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BACK
Using 3mm (US 2/3) needles and yarn A, cast on 74 [77: 80: 83: 
86: 89: 89] sts.
Row 1 (RS): *P2, K1, rep from * to last 2 sts, P2. 
Row 2: *K2, P1, rep from * to last 2 sts, K2. 
These 2 rows form rib.
Work 6 rows more in rib dec 1 [2: 1: 2: 1: 2: 0] sts evenly across last 
row, and ending with RS facing for next row. 
73 [75: 79: 81: 85: 87: 89] sts.
Change to 31/4mm (US 3) needles.
Row 1 (RS): K using yarn A.
Row 2: P using yarn A.
Rows 3 and 4: As rows 1 and 2.
Rows 5 and 6: K using yarn B.
Row 7: Using yarn C, K1, *sl 1, K1, rep from * to end.
Row 8: Using yarn C, K1, *sl 1, K1, rep from * to end.
Rows 9 and 10: K using yarn B.
Row 11: Using yarn A, K2, *sl 1, K1, rep from * to last st, K1.
Row 12: Using yarn A, P2, *sl 1, P1, rep from * to last st, P1.
Rows 13 to 16: As rows 1 to 4.
Rows 17 and 18: K using yarn C.
Row 19: Using yarn B, K1, *sl 1, K1, rep from * to end.
Row 20: Using yarn B, K1, *sl 1, K1, rep from * to end.
Rows 21 and 22: K using yarn C.
Row 23: As row 11.
Row 24: As row 12.
These 24 rows form patt.
Work 38 [42: 46: 52: 56: 60: 66] rows more in patt, ending with RS facing 
for next row. (Back should meas approx. 15 [16: 17: 18: 19: 20: 21] cm).
Shape raglan armholes
Keeping patt correct, cast off 4 sts at beg of next 2 rows. 
65 [67: 71: 73: 77: 79: 81] sts. **
6–9 months only
Row 1 (RS): Using yarn A, K4, sl 1, K1, psso, using appropriate 
yarn patt to last 6 sts, using yarn A, K2tog, K4.
Row 2: Using yarn A, K4, P2tog, using appropriate yarn patt to last 
6 sts, using yarn A, P2tog tbl, K4. - [-: 67: -: -: -: -] sts. 
2 and 3 years only
Row 1 (RS): Using yarn A, K4, sl 1, K1, psso, using appropriate 
yarn patt to last 6 sts, using yarn A, K2tog, K4.
Row 2: Using yarn A, K4, P1, using appropriate yarn patt to last 
5 sts, using yarn A, P1, K4.
Row 3: Using yarn A, K5, using appropriate yarn patt to last 5 sts, 
using yarn A, K5.
Row 4: As row 2. - [-: -: -: -: 77: 79] sts. 
All sizes
Row 1 (RS): Using yarn A, K4, sl 1, K1, psso, using appropriate 
yarn patt to last 6 sts, using yarn A, K2tog, K4.
Row 2: Using yarn A, K4, P1, using appropriate yarn patt to last 
5 sts, using yarn A, P1, K4.
Working all decs as set by last 2 rows, dec 1 st at each end of next 
and foll 16 [17: 17: 19: 21: 20: 21] alt rows. 
Work 1 row, ending with RS facing for next row. 
Cast off rem 29 [29: 29: 31: 31: 33: 33] sts.

SIZE
To fit age

	 0-3	 3-6	 6-9	 9-12	 12-18				   months		
						      2	 3	 years		
	

YARN
Super Fine Merino 4ply
A Marble 269
	 2	 2	 2	 2	 2 	 3	 3	 x	50g balls 
B Lilac 263 		
	 1	 1	 1	 1	 1	 1	 1	 x	50g balls
C Polar 261 		
	 1	 1	 1	 1	 1 	 1	 1	 x	50g balls
		

NEEDLES
1 pair 3mm (no 11) (US 2/3) needles
1 pair 3¼mm (no 10) (US 3) needles

BUTTONS - 4 x BN1365 (15mm) from Bedecked. 
Please see information page for contact details.

TENSION
28 sts and 47 rows to 10cm measured over patt using 3¼mm 

(US 3) needles. 

Pattern note: When working patt, work all slipped sts with yarn 
at wrong side of work – this is back of work on RS rows and 

front of work on WS rows.
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